
8292 8292.5 8293 8293.5 8294
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

2

2.5

3

3.5

4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

105.5−

105−

104.5−

104−

103.5−

us
l_

1X

usl_1X:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

44.2

44.4

44.6

44.8

45

45.2

45.4

45.6

45.8

46

46.2

46.4

us
l_

4e
X

usl_4eX:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

19

19.5

20

20.5

21

us
l_

4e
Y

usl_4eY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

40.5−

40−

39.5−

39−

38.5−

us
l_

12
X

usl_12X:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

157−

156.5−

156−

155.5−

155−

us
r_

1X

usr_1X:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

4.5

5

5.5

6

6.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

214.5

215

215.5

216

216.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

9.5

10

10.5

11

11.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

41−

40.5−

40−

39.5−

39−

us
r_

12
X

usr_12X:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

32149

32149.5

32150

32150.5

32151

us
l_

co
il1

usl_coil1:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

6637

6637.2

6637.4

6637.6

6637.8

6638

6638.2

6638.4

6638.6

6638.8

6639

6639.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

4646.5

4647

4647.5

4648

4648.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

906.5−

906−

905.5−

905−

904.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

15819

15819.5

15820

15820.5

15821

us
l_

co
il7

usl_coil7:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

27806−

27805.5−

27805−

27804.5−

27804−

us
r_

co
il1

usr_coil1:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

5581.8−

5581.6−

5581.4−

5581.2−

5581−

5580.8−

5580.6−

5580.4−

5580.2−

5580−

5579.8−

5579.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

3595

3595.5

3596

3596.5

3597

us
r_

co
il4

usr_coil4:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

796.5−

796−

795.5−

795−

794.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

19510.5

19511

19511.5

19512

19512.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

424.5−

424−

423.5−

423−

422.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

71.4−

71.2−

71−

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

29.5

30

30.5

31

31.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

482.8−

482.6−

482.4−

482.2−

482−

481.8−

481.6−

481.4−

481.2−

481−

480.8−

480.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

94.4−

94.2−

94−

93.8−

93.6−

93.4−

93.2−

93−

92.8−

92.6−

92.4−

92.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

28.5

29

29.5

30

30.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

167

167.2

167.4

167.6

167.8

168

168.2

168.4

168.6

168.8

169

169.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

41.5

42

42.5

43

43.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

12−

11.5−

11−

10.5−

10−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

179.4

179.6

179.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

24.5−

24−

23.5−

23−

22.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

9−

8.8−

8.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7185}



8292 8292.5 8293 8293.5 8294
cyclenum

244−

243.5−

243−

242.5−

242−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

87.8−

87.6−

87.4−

87.2−

87−

86.8−

86.6−

86.4−

86.2−

86−

85.8−

85.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7−

6.5−

6−

5.5−

5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

8

8.5

9

9.5

10

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

453−

452.5−

452−

451.5−

451−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7185}

8292 8292.5 8293 8293.5 8294
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}
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